SECTION - I
Child Psychology & Development Pedagogy,

Teaching Learning Process

fpvird) @ fera R =) darrers e | 1.

Piaget's cognitive development
stage for adolescents is-

(A) “Formal Operational
(B) Concrete Operational
(C) Pre Operational

(D). Sensory-Motor

According to Humanism, central
int of personality is-

(B) a&-vafaE , ‘ ec Permanence
(©) e Let's do it tog? 'Imism
(D) WEeTATHH-Th

4. o & fog ufeaq #Y s 8- | 4.

(A) v&aH T Yftt ym
(B) fervary am sfavarg
(C) @d=a & v
(D) I&d W YUY

2102 ) Series-D [3]

(D) Hypothetical Reasoning

Erikson's stage for adolescents is-
<Y Tdentity Vs. Role Confusion

(B) TrustVs. Mistrust

(C) Autonomy Vs. Shame

(D) Initiative Vs. Guilt



I oy B B 5. Abstract thinking develops during.
5.

(A) T fare araen i (A) Pre-Operational Stage

(B) St dfae e A (B) Fctrmal Operational Stage
©) 7 AfFarTE Al 7 (C)Concrete Operational Stage
(D) Gt v arereen i (D) Sensory-Motor Stage

grafas ®9 4 g?ﬂ'ﬂ"l’ﬂﬁl Al # | 6. IQ of Mentally Challenged

afg-wifey B children will be-
(A) 70 @4 (A)-Below 70
(B) 70879 (B) 70 to 79

(C) 80¥ 89 (C) 80to 89

(D) 90999 (D) 90 to 99

7. SRS = F TeCh Saeam g~ | 7. First stage of motivational cycle is-

(A) w&q (A) Goal
(B) =g (B) Drive
(C) weivm | 4C)y Tncentive
(D) sTEvasa (D) Need
8. Ve qfg wHiern 1y B- 8. Type of Wechsler Intelligence Test
is-
(A) =afama (A) Individual —
(B) wmifeh (B)-Group
(C) =fas (C) Verbal
(D) srarfa® (D) Non-Verbal

[N -2102 ] Series-D [4]



dirtﬂtiunal

9, Wﬂmﬁmwtq o Enrrﬂi“""i an
hehaviour 1%
(A) s (A) Aptitude
(B) sty (B) Attitude
(C) kT (©) Motivation
(D) s (D) Learning
B 8 viem fersiy F | 10, e [ntelligen:e Test are
whdl/Fersl W s 2 ¥ based on pictures and sign®
(A) iy (A) Verbal
(B) s (By Non Verbal
(C) wfe (C) Group
(D) e (D) Individual
11. @ % AR F favadi @ wemsd @ | 11, Totality of beliefs and feelings
EE about oneself is-
"y ¥ (A) Self
(B) T (B) Superego
(C) ¥ ©r1d
(D) ¥ ] T T (D) None of these

12. T 9fg @& (Intelligence | 12. Who gave the concept of

Quoticnt) %1 Hywd fea? Intelligence Quotient (IQ)?
(A) srhe fRl " (A) Alfred Binet

(B) fodrer wmwA (B) Theodore Simon

(C) faferm & Gy William Stern

(D) T wAan (D) Robert Sternberg

[N -2102] Series-D (6]
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T y s ® afege 7 | 13 Extrovertand Introvert Personajy,
sifut wenrd] 1 fiwmn ®) types were described by
(A) /3 Jung
(B) deza (B) Sheldon
(€) ol | (C) Rogers
(D) WiaE (D) Freud
14, i frem ¥ 14. Correct match is-
(A) N -araaag ( Maalnw-Humanisml
(B) URwA-ATGIET (B) Erikson-Behaviourism
(C) Uor-FAfaveSoTeH (C) Rogers-Psychoanalysis
(D) T o Fd T | (D)~None of these
15, wbsiiionih ¥ yrifts W= & 3R | 15, \......... described types of personality
ﬂ!‘ﬂfﬂ[ﬂ%ﬁlﬁﬁ?‘ﬂ?ﬁﬁ'ﬂtl ~ onthe basis of physical make up.
(A) U « (A) Erikson '
(B) ¥ewA (B Sheldon
(C) el (C) Maslow
(D) ==y (D) Bandura
16. el & arfison fagia & gE TR F | 16X Second Level of Needs in Maslow's
v 8- o motivational theory is- '
(A) g (A) Safety
(B) s (BY Biological
(C) seefraan (C) Belongingness
(D) seAfre (D) Self-actualisation

[N - 2102 ) Series-D [6]



17. 39gF = 8-
(A) ¥ - e
(B) W&urH - Wi
(C) & - fem
(D) :!xrﬂﬂ(zpnhq,'m

18. m%ﬂ!mﬂfhmmw
frufor =1 amam §- "

(A) TSNS
(B) wf¥ &
(C) wmfas g
(D) =fem &

19. TR ¥ T Ters T R 4 | 19.

qftoms -
(A) TmT=iteTo
(B) faetram
(C) fadr
(D) sfem

20. P EREIRAWE?

17

(7]

18.

Correct match >
(A) 1d - Maslow

(B) Identity - Preud
(C) Self- Skinner
(D) ZPD-Vygotsky
Basis of Developmental S8 g
Freud's theory is-

(A) Erogenous Zone

(B) Reasoning Zone

(C) Social Conflict

(D) Learning Zone

Lonstermmreﬁtf‘m’mwm

lead to-

(A) Generalisation
(B Reduction

(©) Discrimination
(D) Learning

Which one is a different element?
(A) Identity Challenge

(8) Industry

(C) Trust

(D) d



(A) Introspection
(B) Factor Analysis
(ei’ﬁwmm
(D) Projective

Ar.‘cm'ding to modern view,
intelligence is trtrrsssreinere &
(A) One Dimensional
(B) Two Dimensional
4T Multi Dimensional
(D) None of these

z;a: Method mainly used for studying
Unconscious processes is-
AT Experimentl
(B) Group Observation
(C) Factor Analysis

{D] Pro'Fcﬂ'H"E Method

24. Organised factual knowledge is-
(A) Semantic Memory
Mm Memory
©) Procedural Memory
(D) None of these

[8]



25.

26.

[N - 2102 ) Series-D

(A) T

(C) & %1 w5l
(D) i & W

T ) g famfo w0 w1 s
= e b

(A) 3 WA

(B) 3w Fftgw

(C) Y gedfETe

(D) = frg=sm

26.

27.

Memory system with large storag®

capacity 1%

(A) Sensory
(B) ShortTerm
(C) Long Term
(D) Attention

From Humanistic Perspective,

(D) None of these

Incidence of social and emotional
problems may be observed in
Gifted Persons.

(A) True

(B) False

‘Erﬁ'n'l Say

(D) None of these

Basic inborn tendency to develop
one's capabilities is-

(A) Self Esteem

(B) Self Monitoring

(C) Self Actualisation

owum
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29,

30.

ACC’Ordhg to Operant Condmm
learning is bageq op,.
(A) Heredity

(D) Mental Factors

Which is not included in Memory?

%ﬂcocﬂng

(B) Storage
(C) Retrieval
(D). None of these



SECTION - 1I
Ch'-'mintry & Physics

i T WY ot | 31, is used in cough
okl syrups and tonics.
Ay (A) Methanol
(5 e (% Ethanol
. (C) Propanol
(D) =g (D) Butanol
R Gl 3% ... is an antacid.
(A) NH,OH A). NH,OH
® o, NPEXEMm /éﬁl iy
(C) Mg(OH), (C) Mg(OH),
(D) NaOH (D) NaOH__—
33, SR T iviennsiclinaionsitonad S %’” __________________________ acid is presentin
S| amla (gooseberry).
(A) wEifes (A) Acetic
(B) wiftiw (B) Formic
(C) T =(€) Ascorbic
(D) =Rf® (D) Tartaric
1] .

[N - 2102 )] Series-D



S p— # qrm s 1 | 34, Oxalic acid is present is......
(A) @ (A) Curd
®) T (B) Tamaring
(C) WIETH (€) Spinach
(D) 3T (D) Grapes

35, reereeceriiensiaees 2T 1 WA aaid e catalyst is used in the
¥l B ergrerEwo | B (4 h}'dl'ﬂgenatinn of vegetable oils_
(A) Fe (A) Fe
(B) Mo (B) Mo
(C) Co (CY Co
(D) Ni () Ni

36. Weig 3R JETgER @ A & S9EaA 1@./&1 prevent the oxidation of oily
EOKE T e foemg and fatty food material............. are
EichAl added to them.

(A) SR (A) Oxidants

(B) Wi atfarirren (Bf Antioxidants

(©) 3 (A) 3ir (B) (C) Both (A)and (B)
(D) 39l +iE el (D) None of the above

37, e I VA R & 3w :rf@ ................. is used in black and
B ¥ white photography.

(A) AgF (A) AgF
(B) AgCl {B) AgCl
(C) AgBr (C) AgBr
(D) Agl (D) Agl

[N - 2102 ] Serles-D
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39.

40.

............

1 ] T |

Fe (s) + CuSO, (aq) — FeSO, (aq) + Cu (s)

41.

[N - 2102 Series-D

(A) faear=
(B) ferirsm
(C) warsm
(D) fafawamm

arad i & T AR R W vy

llllllllllllllllllll

(B) W@t
(C) HHM Tl
(D) I &g T

(f

38, I~Ieatinnvn|vﬂdin..”.,,..H.............
reaction.

(A) Dissoclation

(B) Fndothermic

(@) Exothermic

(D) None of the above

‘ jtl active
89 Zincand lead are ....oooere re

than copper.
(A) Less
AB) More

(C) Equal
(D) All of the above

"
LS.J Following reaction is an example
Of ..veviinnnene. FEACHON.
Fé (s) + Euﬁﬂ,. (ag) — FeSO, (aq) + Cu (s)
(A) Displacement
(B) Dissociation
(C) Combination
(D) Double displacement

L('}\/:ﬂttonﬁc radius .................. a8 we
move from left to right in a period.
(A) decreases
(B) increases
(C) remains same
(D) None of the above

[13]



43,

lllllllllllllllll

(C) Trme

in liquid.
(A) Solid
(B) Liquid
(C) Gas

(D) All of the above

\?3. Modern scientists discyss abotip

lllllllllllllll

states of ma tter.

is/are homogeneous mixture.
(.ﬁs-)/I‘rue solution

(B) Suspension X
(C) Colloid
(D) All of the above

45. Tyndall cffectis shown by ............
(A) Truesolution

(B) Suspension
(C) Colloid

(D) ¥ (B) ¥R (C)

1102 ] Series-D

{5) Both (B) and (C)

[14]



46.

47,

48.

49.

[N - 2102 ] Serfes-D

mﬂwﬁlmmmmm
TH v S

(A) Senad

(B) wemreiret

(C) @ (A) 3 (B)

(D) F5a Hf T

7@ i ¥ e
(A) Na

(B) K

(C) =i (A) 3l (B)

(D) IR g T

el H B Q- e aw dan
TAE covrvnrinnns B Fo0T07 F Sl &
(A) Ca(OH),

(B) CaCO,

(C) CaO

(D) CaSO,

A_I,Fe&'ﬂl’Zn ...... A sfufrm s €
(A) 3vE1 ™

(B) i v

(C) Wy

(D) 35w |+t

46, Decomposition of vegetables

matter Into compost 18 AR oo

reaction

(%) Exothermic

(B) Endothermic

(C) Both (A) and (B)

(D) None of the above
(i

kerosene oil.

(A) Na

(B) K

(€) Both (A)and (B)

(D) None of the above

R A L gtored in

48, After whitewash the walls shines
after two-three days due to the
formation of ........cceuueee :

(A) Ca(OH),
(). CaCO,
(€) GO
(D) CaSO,

4T., Al, Fe and Zn react with ............ .
| (A) ColdWater

(B) HotWater

(€) Steam

DY All of the above

[18]



50, oF # WOR A v O B @{“"l“"h“"—mmm

HHHHH

(A) = (°C)+32 A 3 (‘C)+32
5

5 (-]
(B) 5(C)+32 % g0

9
(€) %(%:1-32 (© C0)-3
(D) v & H¢ TE 4B) None of above
51. WE F1 TAAF ooreeveeeens T 51. Melting point of icefis.............. -

(A) 27312 K (A) 27312 K

(B) 273.13 K (B) 27313 K

(€) 27314 K | () 27314 K

(D) 27316 K (D) 273.16 K

52. %4 Ew ¥ yfaffa go famn 3 F | 527 Conversion of solid inta gas

Y g F faffa @ without undergoing into liquid
HEA ¢ | stateis called .................... ;

(A) weur (A) Sublimation

(B) e (B) Compression

(C) arsdiem (C) Vaporisation

(D) 3% WMt i (D) All of the above

N - 2102 Series-D [16]



B lid
53, el I F T B W & s [ 53, In the process Of melting o1 *©

(A) ¥HH
(B) wgm
(C) wem
(D) v et

(A) ==

(B) e

(C) 2 (A) 3k (B)
(D) vl wré =T

................. =¥ o €
(A) e

(B) fawam

(C) s

(D) 3 (B) AR ()

56.

lllllllllllllll

the temperature ..o
(A) Remains constant

(B) Increases
(C) Decreases
(D) None of the above
[

Vaporisation CAUSes ...
¢A) Cooling

(B) Heating

(C) Both (A)and (B)

(D) None of the above

(D) Both (B) and (C)

gf Calamine solution contains ............
(A) CaCO,
(B) ZnCO,
(©) MgCo,

(D) CuCo,

[17]



58.

59.

[N - 2102] Series-D

.............

llllllllllllll

8y 3 g T HH
.

(A) 35

(B) 80

(©) 45

(D) 115

wiemm SR sgdfam

Ei o g

(A) sweafs
(B) Wi
(C) 9=
(D) 39l avit

llllllllllllllll

|

¥. Modern Periodic law depeng,

(A) Atomic Mass

(B) Atomic Number
(C) Both (A) and (B)
(D) None of the above

SB/V The solutions which do not affecy
blue or red litmus Paper are cafleq

0. P;rntium and deuterium are
e;:ampleu nfn .................
~A) Isotopes
(B) Isobars
(C) Isotones
(D) All of the above

[18]



62. T2 A1 TN F 60° F1 W e &
o I 99 F A=W -

(A) %
B) %
©€) 2
(D) 34

63. GFt W HAE TEA TUET woreesesneees
A WA R
(A) 0°C
(B) 4°C
(C) 100°C
(D) 7 7 &

[N - 2102 ] Series-D

617 Which of the following is

mlnmnl:chtd?

(Aj__l__artometer-hﬂlﬂk ~

(B) Barometer — Pressure

(C) Thermometer= Temperaturé

(D) Calorimeter= Humidity

62. If two sound waves have phase

differmufw“thenﬂueywﬂlhave
apathdiffermcéof-

(A) %
B %

© 2
(D) 32
63 The density of water is maximum
at -
(A) 0°C
(By#°C
(C) 100°C
(D) None of these

[19]
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64, T e o R T 10 B ENI'Am"“’“"*c"'"‘&"l‘mtslmd
T 33 & 100 = Hieh wHAE headmdtnvelg]mmmn on
wgw e &1 e 3 foen w h°ﬁz°ﬂtnlmud.Theworkdon', |
fgm 0 the coolie is . by
(A) 1000 ] (A) 1000
(B) T hrd (B) Negative
(C) WEHTHE Fd (C) Positive
(D) Y= O Zaro

65. T fFeirae T SeR §- 65. fheldlnwattiupproxhnuyq"

to -
(A) 1.34 hp () 134 hp
(B) 1.56 hp (B) 1.56 hp
(C) 25hp (C) 25hp
(D) 1.83 hp (D) 1.83 hp

66. Frfafas ¥ @ 9\ T D - Out of the following which cannot
®? be negative?

(A) = (A) Acceleration
(B) wfa (B) Velocity

(C) faeamm (€Y Displacement
(D) & AP Distance

67. HER F1 gHA Fram snafig 3- @7./1(@}&'5 second law is based on-
(A) =9 % g g W * (A) Newton's second law
(B) =7 % W fram v (B) Newton's third law
(C) wmgan & fafre fagra w (C) Special theory of relativity
(D) HIofg W4T & W | (D) Conservation of angular

momentum.

[N -2102] Series-D
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frefafad H ey ) )
68 ufln Lot Wy igﬂ. Which of the following is @ scalar
(A) an quantity?
(B) ;:i f:;{ :{ummtum
(C} orce
(D) Acceleration
 frfafEa 9 @
i %7 NE a2 ¥oim | 69. Which of the following represents
[ voltage?
l (
(A) work done
ﬁgﬂﬂmxm (A) current x time
(B) % x I (B) work done x charge
#d
(C) bt C work done x time
ﬁ!’ﬂ a1 © current
(D) Y X HARAV X G99 (D) wg;kdun:xcurremxtime
70. TRETHSY e - QJQ?.‘ The force of gravitation is -
(A) whet (A) Repulsive
(B) & ) @) Conservative
(C) ﬂlﬂ_ﬂ-‘iﬂﬁﬂf (C) Electrostatic
(D) sreeaft (D) Non-Conservative
71. afe aqum # gfg @ W9 T 3w | 71. If the conductivity of unknown
TR )} e At & ST A material increases with the increase
£ in temperature, the material used is-
(A) GIETH (A) Conductor
(B) ferdiam® (B) Insulator
(C) afaEF fC),—Senﬂmnductor
(D) mw (D) Ferromagnetic
[21]
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72,

73.

74,

75.

[N - 2102] Series-D

Kwh & MeV #1 ST & -
(A) 2.25 x 10"

(B) 2.25 x 10-19

() 35%10"

(D) 35x 107

e o i {n 2 1 e
ayw wt §, A §-

(A) VT JFR &

(B) ¥ig smam

(C) Uz 3iv vig A sewrt

W R ? |
(A) ¥ S

(B) Eaet o

(C) Twae Ivat o

(D) 9« add oG

%n & % e whRvE! ST
mmwﬁﬁuﬂm?

(A) 30

1
—0
25

1q
10

25Q

(B)

(©)
(D)

72. The ratio of Kwh to MeV js..
(A) 2.25 x 1019
(B) 2.25 x 1919
€Y 35x 101
(D) 3.5 x 10-18

73. The cells which enable to
distinguish colour defects are.
(A) Rod Shaped
(B) Cone Shaped
(C) Both Rod and Cone Shaped
(D) Cylindrical Shaped

74, Which lens is used by the watch
Y makers?
(AY Convex Lens
(B) Concave Lens
(C) Plano Convex Lens
D) Plano Concave Lens

75/ What is the minimum resistance
which can be made by using five

1
resistors each of resistance 3 Q



78.

k done by 2

76. R -I;=(25+3j—$]2)~ ‘me 76. Calculate the wWoT

ﬂ ;=[2i+4:i+3i)m mm constant force ;#{ZE'FJ]'SE}N
§ @ fre v g ? acting on a body producing 2

displacement g =(2i+ 4j+ 3k) min
(A) 47 thabody.
(B) 2@ (A) 4]
(C) 1@ 4B) 2]
(D) T (€ 1]

(D) Zero
TR T 1 S o 3 L?;“:T H:Eight of geostationary satellite is
(A) 360 fer.xih. ?il;';":)"::ly'
(B) 3,600 .. (B) 3,600 km
(C) 36,000 f&.t. £€)-36,000 km
(D) 360,000 o=, (D) 3 £0,000 knt

1)
V-t T ) T 3 ¥ c“&Bf"Theslupeofv-tgraphgives-
(4) T (A) Distance
(B) faeumas (B) Displacement
(C). W% ACS) Acceleration
(D) R (D) Speed
et &  frweh g XM F 9% | 79, For which of the following does the
] & T T E2 centre of mass lie outside the body?
(A) 3 T (A) Asolid sphere
(B) 3 faciet (B) Asolid cylinder
(€) fe= (C) Adisc
(D) fn (#) Aring
[23] i
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80. gl ww yn ¥ -
(B) e wfifm ®
(C) e fiwrolt Y 5l #
(D) e fisvoll ) dtoren &

81. ¥w wgt frm fegra W wrd wT
¥
(A) Wy
(B) #2 & fram
(C) 3w ¥
(D) st o

82. 40 ¥H. wiww ¥ F I A
H 25 ¥t F T TEE ® IFa
9 B Wy S W &A@ e
it -

(A) -15D
(B) -65D
(C) +6.6D
(D) +6.5D

W wE el @ fag o fag
t

(A) 25 &1

(B) 257+

©) T
(D)

".”ﬂ]w

8(C_Curie is a unit of -
(A) Energy of gamma rays
(® Radioactivity
(C) Energy of beta rays
(DY Intensity of gamma rays

81. The induction furnace work “
which principle?
AA) Eddy current
(B) Faraday's Law
(C) Self induction
(D) Mutual induction

Bﬂ(ﬁmnvnlmufmmfodlﬂm
is combined with a concave lens of
focal length 25 cm. The power of
combination is -

@A) -15D

AB) -65D
(C) +6.6D ¥

(D) +65D

8X Fornormal human eye, the far point
is at -
(A) 25 cm
(B) 25m
(C) Zero
(B Infinity.

(24]



84, mﬂmfi},—gw
el &2 ﬁmﬂn

(A) 3x107 m R sfipg
(B) 3x107 m # qymy
(C) 3x107 m A&y
(D) Iqdaa |

85. el &9 B dhry ol

(D) o7 A = ot =f

86. T a # T B B uw ) &
fore, & wwwE =dui 0 frw B w
o =it ?
(A) 60°
(B) 90°
(C) 120°
(D) 30°

87. ferw fafy | 3 1 i fva T &7
(A) =T
(B) fafetm
(C) Waed
(D) T & = off T

[N - 2102 ] Series-D

84," Ozone layer blocks the radiations of
which wave length?
(&) More than 3107 m
(B) Equal to 3x107 m
(@) Less than 3107 m
(D) All of the above

45!. During radio-active decay, the
negatively charged particle is
emitted because of -

(A) X-Rays
(B) Beta-Emission
(C) Transmutation of neutron
into proton
' @P) None of the above

86. To get three images of a single
object, one should have two plane
mirrors at an angle of-

(A) 60°
(B) 90°
4€) 120°
(D) 30°

\87-"Solids are heated by the mode of
&) Conduction
(B) Radiation
(C) Convection
(D) None of these

[26]



/T)

L
w1 1 | 88, Mercury thermomete
88, T et A R A T CAnbey,

to measure maxi
bl %’ Amum temperal-urt
upto
(A) 260 °C (A) 260 °C
o
(B) 165 °C (B) 165 °C s
(C) 357 °C @ 3s7°c B0OT
(D) 437 °C (D) 437 °C
89. e W - \3?}\ Water waves are-
(A) Irgeed o (A Longitudinal waves
(B) STHWE T (B) Transverse waves
(C) 3red iy arquey Tl (@ Combination of Longitudin
Harem y and Transverse wave
(D) ¥ A =3 & (D) None of these

90. T AR 4 AiF Frt A - | 90( Young'sModulus of wire dependson.

(A) TH&H! &R W (A) Its length

(B) 9% 1Y W (B)~Its material

(C) 36H STITH-FE & ATFe W A€) Its area of cross-section
(D) T & & ot = (D) None of these

[N-2102] Serles-D [26]



91.

92.

[N - 2102 ] Series-D

SECTION - 111

Mathematics
ABC T . P C oy | 91, 1o  trlangle, right angled at
%1 aft AB=25 cm 3R ACay em ® C. 1f AB=25cm and AC=7 cm then
BC¥- BCla-
(A) 24 cm (A) 24 cm
(B) 25cm @ 25 cm
(C) 26 cm ©) 26 cm
(D) 27 cm (D) 27 em
gt m-2o1-m22 s w92 i m-Pt 2 B2 thenm =7
2 3 p) 2 <3
=2
® 3 ® 3
® 3 B
© 2 © 3
) 3 ® 3
(27]



93.

94,

[N - 2102] Series-D

lm%ﬁ:nﬂﬁqﬁﬂ“m
4

E
3

(A)

(B)

©)

Ww|oe 00|tw | pN|—

(D)

IS Wt g ot #t g w g
ote ad TEet 39 # Ay o = Ay
w1 forpRt ot | afs v st 1 acdum
1Y wHv: §-

(A) 10 =4, 20 =

(B) 20 &, 30 74

(C) 20 =4, 10 =

(D) 30 7, 10 7

93.

9.

Find a rational number between

Arjun is twice as old as Shriya. Five
year ago his age was three times
Shriya's age. Present age of Arjun &
Shriya respectively is -
(A) 10 years, 20 years
(B) 20 years, 30 years
(C) 20 years, 10 years

.(D)/ 30 years, 10 years



23 cm 41350 ) gy

3
~cm
(A) 34c

3
(B) 21 cm

Igcm
© 3

3

2 6
— m B
B+t 000 | A E

(A) 23.206
(B) 232.06

96.

(C) 2.3206
(D) 0.23206

97, el dem & fap iR 11 %19 32

¥\ =% dem i i)
(A) 5
(B) 7
©) 11
(D) 0
[N - 2102] Series-D

95,

[29]

96.

97.

The Perimeter of a rectangle 18

3
13 cm and its widthis 2;‘ cm . Then

its length is -

(A) 3% cm
(B) 2% cm

(©) l% em

(D) 4%::111

2 6 is
Decimal from of 23+EE+I—0-EIE

(A) 23.206
(B) 232.06
(C) 2.3206
(D) 0.23206

The Sum of three times a number
and 11 is 32. Find the number.
(A) 5
By 7
() 11
(D) 0



08, 33 @ 3.300, -t 7@ ¥ /‘EJ 8. Which s greater 3.3 or 3.300 ?

(A) 33 (A) 33

(B) 3.300 (B) 3.300

(C) 2 | 11 €] Both are same,

(D) el T8 o Wl | (D) Can not be determined.

99, 3yi@al 24, 36, 46,17,18,25,35F | 99. Find the median of the data

T T F - 24, 36, 46, 17, 18, 25, 35.
(A) 24 (A) 24
(B) 25 L(BY 25
(C) 35 (C) 35
(D) 36 (D) 36

100. 4.2,3.8 31 7.6 %1 3hwa 4 FI9Y) | 100. Find the average of 4.2,3.8 and 7.6.

(A) 25 (A) 2.5
(B) 5.2 “®) 52
(C) 3.2 ©) 3.2
(D) T | ® T

(D) None of these

[N - 2102] Series-D [30]



101.

102.

103.

[N-2102] Series-D

3+ 4 ST ) Wfiryry 3 "
I

(A) 75%
(B) 50%
(C) 30%

(D) 20%

(3°+ 4" x22 =
(A) 3
(B) 4
€ 5

(D) 6

90 3ft 3R 1.5 . 1 A FAFRA |
(A) 3:5
(B) 5:3
(C) 3:2

(D) 2:3

101,

102.

[31]

tage.
Convert ratio 3: 4 to percen g€

(A) 75%
(B) 50%
(C) 30%

(D) 20%

(3°+ 47)x 22 =7
(A) 3
(B) 4
«€y 5

(D) 6

103. The ratio nf%c;_m tol1.5m.is -

HA) 3:5

(B) 5:3
(C) 3:2

(D) 2:3



104. TF e F fom 7 em 3 FF

, 104, The height of a cylinder Whoge
ysty A 968 cm? ¥ | W AT W

radius ig 7 Cm and the tota)

ST Bl - surface area is 968 9?1 is -
(A) 7cm |' 4R) 7cm e
(B) 10em - (B) 10em
(C) 15em | (€) 15em
(D) 20cm
}
105. 512- 492 =7 | 105, 512- 492
(A) 100 (A) 100
(B) 200 4B 200
) (C) 300 (C) 300
(D) 400 (D) 400
=
106. mmmmaﬁmma 106. Find the angle which is equal to
T B its complement.
(A) 30° (A) 30°
(B) 45° By 45°
(C) 60° (©) 60°
(D) 90° (D) 90°

[N - 2102] Series-D e,



CIELE 107. Find the value of x in the figure
(A) 40° TANILE
t
(B) 50° (A) 40° ”M N
(C) 60° (B) 50° /é > M
(D) 70° (C) 60° /
(D) 70°
108. 4 fa e F 3w @
3 o o #19 | 108. Which direction will you face if
| you start facing east and make 3
# e # - iy w12
2 of a revolution clockw ise?
(A) uf=m -
@ o (A) West
) (B) East
(C) 3W
(C) North
(D) (D) South
109. W@maii 1,1, 2, 4, 3,2,1,2,2,4 ¥ | 109.Find the mode of the set of
w t = number !‘ ;l., 2' 4, 3-‘ 2, }’ 2' 2' 4
(A) 1 (A) 1
(B) 2 (BYZ
€ 3 (C) 3
(D) 4 (D) 4
[33]

[N-2102] Series-D



110, 7 2 @l 7 7 A T R
o & wOaR §, A e H H A

e -

(A) = H
(B) FgHM
(C) i F
(D) ¥ &g e

111.3f 21y 5, 9 F 7orel &, el y 0 37
LAy wmamFnd?
(A) 1
(B) 2
©) 3
(D) 4

112. T §REQYS &1 89%a T FHe
ﬁ'ﬂ%ﬁl‘ﬂﬂﬂﬁmmcmﬂi
82cm¥I

(A) 40 cm?
(B) 41 cm?
(C) 42 cm?
(D) 43 cm’
[N - 2102 Series-D

110. When the sum of the measures of
two angles is that of a right angle,
then each one of them is -

A Acute

(B) Straight

(C) Obtuse

(D) None of these

111.1f 21y 5 is a multiple of 9, where y
is a digit, what is the value of y ?

SAY T
(B) 2
(€)3
(D) 4

112. The area of a rhombus whose

diagonals are of lengths 10 cm and

82cmis -

(A) 40 cm?

'Tml em?

(C) 42 cm?

(D) 43 em?

(34]



113. Diameter of a cir

9.8 cm. Find 115 ared.
“(A) 7546 cm’
(B) 76.45 cm?

(C) 74.45 cm’

® EARSE (D) None of these
1ok T 'ﬁ*ﬂ* fo | 114, Euler's  Formula for

t- polyhedron s -

(A) F+V-E=2 (A) F+V-E=2

(B) F-V-E=2 (8) F-V-E=2

(C) F+V+E=2 (C) F+V+E=2

(D) ¥ &+ Py None of these

115. (4pq +3q )* - (4pq - 3q)°=?
(A) 48p*q°
(B) 48pq’
(C) 48pq (
(D) 48p’q’

IN-2102) Series-D

115.(4pq + 3q)* - (4pq -39 )’ =7
(A) 48p%g
‘(B)(-%qu

(C) 48pq~
(D) 48P2q3

[35]

cular garden .

any



116.

117.

118.

[N - 2102] Series-D

25600 T 2 74 qva A T A 1280
ek EEe R

(A) 0.25%

(B) 25%

(C) 25%

(D) 5%

8000 1 ¥79= i Sifem |
(A) 10
(B) 20
(C) 25

(D) 30

&A1 3,430,000 1 9HF ®9 § =

118.
wHitey -
(A) 34.3x10°
(B) 3.43x10°
(C) 0.343x10°
(D) 343x10°
[36]

116. What rate gives 7280 as interest

On a sum of ¥5600 in 2 years?
(A) 0.25%

(B) 25%

(C) 2.5%

Py 5%

117. Find the cube root of 8000.

(A) 10
(B)—20
(€) 25
(D) 30

Express the number 3,430,000 in
the standard form -

(A) 34.3x10°

fo 3.43x10°

(C) 0.343x10°

(D) 343x10°



119::1‘411%‘@?4?!%%%,“% e e is throw™ "
T ) s - .ﬂutcnmes of an event getting nota
prime number is -
. (A) 2,3,5
— (B) 1,4,6
- (€) 1,2,3
o (D) None of these
by Wﬁaﬁmm 120. Find the number of sides of a
st oo v T F 3 ary regular polygon whose o
450 ¥ exterior angle has a measure of 45°.
. (A) 5
. (B) 6
o7 (C) 7
(D) 8 o5




SECTION . 1v
| \._ General Awareness & Environmenga] Studies

121 et wered’ o ST fom ey
A  wftnfera i o2

(A) <
(B) e
(C) =&

(D) W

W22, Pretffan f&u =afim 3 waf=y
fefaeas quam ‘v @' s
‘From-u-ufear’ 3w a2
(A) @ @m
(B) Herm g wem s
#C) wrrht Faré
(D) werem il

lz‘s’_ﬂﬁtvﬁ%mﬁﬂﬁﬁmmm |

AT B GIPY,
()RR, |

(B) Wi femfemmm

(C) wire ffgm

(D) =re faferes

1%, 370 i - e &

121. The call for 'Garibi Hatao'

incorporated in which Fiv
plan?

(A) Fourth
(B) Fifth
(C) Sixth
(D) Seventh

€ yeary

lﬂ Who got both highest civilian
Award 'Bharat Ratna’
'Niahan—e-?aklstln'?
(A) AyubKhan,
&), MaulanasAbul Kalam Azad
{(™(C) Morat]i Desai
A\ Q}Mahatma Gandhi

and

IE.Whowumermyofhldhatﬂr

time of Gandhiji's Dandi March?
(A) Lord Irwin

(B) Lord Linlithgow
(C) Lord Reading
{PYy Lord Willingdon

124. Which river flows into the
Arabmnsea?

——

(D) Godavari

(38]



126, fasa HEAFL HHH -
grafaa ¢ 7 R forary

(A) TR FUR |
(B) ﬂ-mmmﬂ

(C) FYMA
(D) ¥ & HE 7

127, 78 YRR el et
1O B &2

128, forea  * sy wneeen fee' o
Fa WA Sl § 2

(A) 8 faamat t
(B) 9 faaa
(C) 10 faamr
(D) 1 faa=r

[N-2102) Series-D

& . d at-
125 Deendayal port is |ocate

(A) Kerala

_(B) Guijarat

(C) Maharashtra
(D) Goa

: r
126. The report of Vijay Kelka

Committee related to -

(A) Trade Reforms

(B) Centre - Stat
relation

(C) Tax reforms

(P) None of these

e Financial

&;L'i}ehydraﬁun in Human body is
caused due to the deficiency of-
(A) Vitamin
(B) Salt
(C) Hormone

m"ﬁ'ater

126, International literacy Day is

celebrated across the world every
year on-

(Ay BSeptember _

(B) 9September

(C) 10September

‘l\l

/11 September



129, vy & woe FraTEE WUt B 42

(A) . fird

(B) TH. el HEHE
(C) H.IM. TTATH
(D) = wa. & wi

130. ¥ WRvsle forg ad o @ gem ?

(A) 1992
(B) 1995
(C) 1997
(D) 1999

131. few. sifrard wafie foran sifufrm
g ad & oy fman man ?
(A) 1950
(B) 1951
(C) 1953
(D) 1956

132. fen. ¥ gg TmReg wEl §2

1 %? Who was the first acting Presidep,
of India?
(A) V.V.Giri
(B) F.Ali Ahmad °
{CYyK.R. Narayanan
(D) Dr.S.D.Sharma
()
Myutn Protocol was adopted ip
which year?
(A) 1992
(B) 1995
(€) 1997
(D) 1999

13). H.P. compulsory primary education
act was enacted in which year?

(A) 1950
(B) 1951
(@ 1953
D) 1956

"ﬁWhere is war museum located in
H.P.?

@ Palampur

(B) Mandi

(C) Shimla

W/Dharan'tshaln

[40]



ﬁﬁ.ﬁ-ﬁ-ﬂﬁ‘{ﬂfmm
(™ zswm,m“"‘"m?
AB) 25m1975
(C) 15 31 1977
(D) 26 St 1979

135. fereaet enfie Temd sy wiewm
32
(A) 1969
_(B) 1953
(C) 1959
(D) 1963

L |

136. WA WiawH & forw aig=k # ma
fereitar smaTrRRTer T S 2

—_

A SRR 352
(B) =% 356
(C) srg=d= 360
(D) 7= 395

IN-2102] Series-D

8 jstrict
137 1n which tehsil of Mandi distr]
Kamrunag |.ake 18 gituated?

(A) Chachyot
(B) Thunag
(C) Karsog
(D) Balichowki

134. When did H.P. get full statehood?
(A) 25 January 1971
(B) 25 January 1975
(C) 15 April 1971
(D) 26 January 1971

185, When did Tibetan religious Guru
Dalai Lama come to Dharamshala?
(A) 1969
(B) 1953

€Yy 1959
(D) 1963

136. Financial emergency is imposed
under which article of Indian
Constitution ?

(A) Article 352
(B) Article 356
(&) Article 360
(D) Article 395

[41]



1/
137, w4, # IR el feer &7 L‘j?* Where is the Headquarters of
NCC?
(A) T (&) Pune
(B) ¢ feweh (B) New Delhi
(C) wvETg (C) Chandigarh
(D) e (D) Bhopal
Q"
138, WA & Sqsgufa &1 H fag ArEvas® . Minimum age required to become
< 3 ¥ Vice-President of India is-
(A) 3074 (A) 30 year
(B) 254 (B) 25 year
(C) 35 = ()35 year
(D) 40 = (D) 40 year
139, TR WR SR e = WA ¥ | 139, Nagarjuna Sagar Project is built on
TER? which river?
(A) TR (A) Damodar
(B) F™m (By” Krishna
(C) =&l (€) Kaveri
(D) It (D) Kosi .
140. %77 9 o5& G 1 firmeer 11 % W | 146, Who is known as the Missile Lady
| S S 2 of India?
(A) =1 24t 9 E (A) Dr. Tessy Thomas
(B) Fgae A (B) AnuradhaTK.
(C) el frfect (€) Meenakshi Vinodini
(D) s Nl (D) Apurva Chaudhary

[N - 2102 Series-D

[42]



1 ) Mm

M
(A) Wifee

(B) SR fiig
() % fig
(D) @& Ffy

142_ﬁ.ﬂ.ﬁmﬁ’ﬂw“m
L&l

qr?

(A) 67 2018
(B) 3 2018
(C) 82018
(D) 9 7 20181

143, AR (&) =1 [ 7 3 o

(A) TERH
(B) foran
(C) wfram

(D) %I

144, TN HRY - ('Daranghati’
sanctuary) f&.9. & ¥ famd#?

(A) |7
(B) ferwrem
(C) farRr
(D) =

N-2102) Series-D

(B) Joravar Singh

(C) Umed Singh

(D) Lakshman Verman
142. Jan Manch programme in H.P. was
launched on-
(A) 6 June 2018
(B) 3 June 2018
(€) 8 June 2018
(D) 9 June 2018

143. What was the ancient name of
Udaipur (H.P.)?
(A) Markul
(B) Trikuta
(C) Tissa
(D) Kunzum

'144. 'Daranghati' sanctuary is situated

in which district of H.P.?
(A) Kullu

(B) Shimla

(€Y Sirmour

(D) Chamba

[43]



145.%%1?!%@@'@’%
A s e #?
(A) waes
(B) @em
(C) Tt
(D) a9

146. fava =% feam 2021 #1 oftm am &7

(A) IR T FIR

(B) WRe Fld T acs

(C) FE g faw

(D) Fgfraem ggfon fas

147. fo¥a =AM9R WeA &1 9 F9 g

(A) 1950
(B) 1995
(C) 2020
(D) 1994

148. AT SR T HA areil Jaait

Re fren FH-4t 4t ?
(A) wet e

(B) &M

(C) e

(D) et fafea

[N - 2102 ] Serles-D

[44]

145. In Vedic Era, which river is known

as 'Parushini'?
(A) Sutlej
(3 Jhelum
(C) Ravi

(D) Yamuna

146: What is the theme of 'world post

day 2021' ?

(4 Postto connect

(B) Post across the world

(C) Innovate to recover

(BT/ Communication during covid

w:ﬁm Trade Organisation was

established in -
(A) 1950

(By 1995
(C) 2020

(D) 1994

()

148 Which was the first Indian movie

to receive an OSCAR award?

(AT Mother India

(B) Lagaan

(C) Gandhi

(D) Slumdog Millionaire



149.mﬁﬂnmm%
AHAR? L]
¥ am,ﬂ%

(A) T Ty
(B) S T
(C) W sy

(D) T [ Ff

150, e @@ Ry forarg o

(A) 1098
(B) 1075
(C) 1091
(D) 1097

2K

1
149, Who Is at pres

'-‘umpr.'titlnn

ent the chairman of

rnmmissinn of

Incdia?
(A) Arvind Saxend

(By Ashok Kumar Gupta

(C) Sanjay Mishra

(D) None of these
i
T50. What s the child Help

of the Ministry of Women and

line number

Child Development?
~(A) 1098
(B) 1075
(C) 1091
(D) 1097

HPExams.In

Let's do it together !l

IN-2102) Series-D -



